Legend	work	
	тy	thought process

## MATH 141: Ungraded Pretest

Directions: No calculators. Do everything by hand. Good luck!

1. Simplify the expression 3(x + 2) - (2x - 1)

$$3(x+2) - (2x-1) = 3x + 6 - 2x + 1$$
 dist law  
=  $x + 7$ 

2. Simplify by applying laws of exponents:  $\frac{\sqrt[3]{x^2}}{x^{-2/3}}$ .

$$\frac{3\sqrt{x^2}}{x^{-\frac{2}{3}}} = \frac{x^{\frac{2}{3}}}{\frac{1}{x^{\frac{2}{3}}}} = x^{\frac{2}{3}} \cdot \frac{x^{\frac{2}{3}}}{\frac{1}{x^{\frac{2}{3}}}} = x^{\frac{2}{3}} + \frac{2}{3} = x^{\frac{4}{3}}$$

$$\frac{1}{x^{\frac{2}{3}}} = x^{\frac{2}{3}} \cdot \frac{x^{\frac{2}{3}}}{\frac{1}{x^{\frac{2}{3}}}} = x^{\frac{2}{3}} + \frac{2}{3} = x^{\frac{4}{3}}$$

$$\frac{1}{x^{\frac{2}{3}}} = x^{\frac{2}{3}} \cdot \frac{x^{\frac{2}{3}}}{\frac{1}{x^{\frac{2}{3}}}} = x^{\frac{2}{3}} \cdot \frac$$

3. Simplify the expression  $3(x+1)^2 - (x-2)x$  equivalent to  $+(-1) \cdot (x-2) \cdot x$ , there for form

$$3(x + 1)^{2} - x(x - 2) = 3(x^{2} + 2x + 1) - x^{2} + 2x$$
  
*Commutative law.*

$$= 3x^{2} + 6x + 3 - x^{2} + 2x$$

$$= 2x^{2} + 8x + 3$$

4. Factor  $x^2 + 4x - 5$ .

Using new X method (Lecture Note III)  

$$\int_{1}^{1} \frac{5}{1-1} = -4\sqrt{1-1}$$

$$\int (x + 5)(x - 1)$$

7. Can I cross out the 
$$x^2$$
 in

8. Can I cross out the 
$$x - 1$$
 in  

$$\frac{(x - 1)(x + 2) + 3x^2}{(x - 1)(x + 3)}$$
to get  $\frac{x + 2 + 3x^2}{x + 3}$ ?  
No.  $(x - 1)$  is not a global factor in the numerator.

 $\frac{x^2+1}{x^2+2}$ 

Isolating variable problem. It steps

9. Solve a(b + cx) + d = e for *x*. () Criste global times, remove all paren theses. ab + a(x + d) = e(2) collect all terms without x on one side.

ab + acx + d = e

-ab

-ab acx = e - ab - d

10. Solve  $x^2 + 4x - 5 = 0$  for *x*.

x-1=0

x = 1

From problem (4):

(4) Divide both sides by the factors a Hached to x

$$\frac{dtx}{dtx} = \frac{e - ab - d}{ac}$$

(x + 5)(x - 1) = 0X + 5 = 0

X = -5

11. Given a function  $f(x) = x^2 + x$ , evaluate and simplify:

(a) 
$$f(1) = \int_{-\infty}^{2} + \int_{-\infty}^{2} = \frac{2}{2}$$
  
(b)  $f(x+h) = (x+h)^{2} + (x+h) = \frac{2}{x^{2} + 2xh + h^{2} + x + h}$   
(c)  $f(x+h) - f(x) = \frac{2}{(x+h)^{2} + (x+h)^{2} - (x^{2} + x)^{2}}$   
 $= \frac{2}{(x+h)^{2} + (x+h)^{2} - (x^{2} + x)^{2}}$   
 $= \frac{2}{x^{2} + 2xh + h^{2} + x + h - x^{2} - x} = 2xh + h^{2} + h = \int_{-\infty}^{\infty} h(2x + h + 1)^{2} h(2x + h + 1)^{2}$ 

12. If  $f(x) = x^2 - x$  and g(x) = x - 2, find the function  $f \circ g$ , expand, then fully simplify.

$$(f \circ g)(x) = f(g(x))$$

$$= f(x-2)$$

$$= (x-2)^{2} - (x-2)$$

$$= x^{2} - 4x + 4 - x + 2$$

$$= \boxed{x^{2} - 5x + 6}$$

$$(\frac{5^{2}}{3}, \frac{1}{2})$$

$$= \frac{(5^{2})^{2}}{6}$$
Evaluate the following:

13. Evaluate the fo

